	© PORTUGUESE UTAH DUAL LANGUAGE IMMERSION								
REQUIRED MATERIALS Page 1									
	Vendor	Title/ Description	Grade	Picture	ISBN	Book Type & Quantity	Unit Price	Total	
LITERACY	1								
	Patrick Brinker,CAccount ExecutiveLa	<i>Linguagens</i> – Curriculum for Language Arts in Grades 1 – 5	1	Língua Portuguesa	978-429-0220-4	TEXTBOOK classroom set (e.g. 30 copies)	\$13.04	\$391.20 for 30 students	
	pbrinker@brprinters.com (323) 854-8910				978-429-0220-4	WORKBOOK	\$2.75	\$165.00 For 60 students	
		<i>Português de AaZ–</i> Supplemental Phonics Program for 1 St grade only	1	Menter and Parameters	N/A	WORKBOOK one per student (total # in cohort)	\$3.99	\$239.40 for 60 students	
		<i>Linguagens</i> – Curriculum for Language Arts in Grades 1 – 5	2	Língua Portuguesa	978-429-0323-2	TEXTBOOK classroom set (e.g. 30 copies)	\$13.44	\$403.20 for 30 students	
				Calman of months	978-429-0326-3	WORKBOOK one per student (total # in cohort)	\$3.23	\$193.80 for 60 students	
		<i>Linguagens</i> – Curriculum for Language Arts in Grades 1 – 5	3	Língua Portuguesa	978-429-0324-9	TEXTBOOK classroom set (e.g. 30 copies)	\$14.24	\$427.20 for 30 students	
					978-429-0327-0	WORKBOOK one per student (total # in cohort)	\$2.99	\$179.40 for 60 students	

	OPORTUGUESE UTAH DUAL LANGUAGE IMMERSION								
UTAH DUAL LANGUAGE IMMERSION REQUIRED MATERIALS Page 2									
	Vendor	Title/ Description	Grade	Picture	ISBN	Book Type & Quantity	Unit Price	Total	
LITERACY	(
	BR Printing Patrick Brinker, Account Executive	<i>Linguagens</i> – Curriculum for Language Arts in Grades 1 – 5	4		978-429-0325-6	TEXTBOOK classroom set (e.g. 30 copies)	\$15.40	\$462.00 for 30 students	
	pbrinker@brprinters.cor (323) 854-8910			Língua Portuguesa	978-429-0328-7	WORKBOOK one per student (total # in cohort)	\$3.29	\$197.40 for 60 students	
		<i>Linguagens</i> – Curriculum for Language Arts in Grades 1 – 5	5		978-429-0229-7	TEXTBOOK classroom set (e.g. 30 copies)	\$14.40	\$432.00 for 30 students	
				Lingua Portuguesa	978-429-0229-4	WORKBOOK one per student (total # in cohort)	\$3.59	\$215.40 for 60 students	
		Para Viver Juntos - Português – Curriculum	6	Viver Viver Juntos PORTUGUÊS	978-85-418-0628-2	TEXTBOOK classroom set (e.g. 30 copies)	\$21.68	\$650.40 for 30 students	
		for Language Arts inGrades6–9				WORKBOOK one per student (total # in cohort)	\$3.87	\$232.20 for 60 students	

	W PORTUGUESE UTAH DUAL LANGUAGE IMMERSION									
REQUIRED MATERIALS Page 3										
	Vendor	Title/ Description	Grade	Picture	ISBN	Book Type & Quantity	Unit Price	Total		
MATHEM	ATICS									
	Houghton Mifflin www.hmhco.com (may also be purchased through Mountain States)	Every Day Counts Calendar Math	1-3 required 4-5 optional		1: 9780547586212 2: 9780547586229 3: 9780547586038 4: 9780547586281 5: 9780547586274	One per grade *may purchase box as indicated orselectonline kit to be used on a smartboard	\$329.60 *price may differ with format	\$329.60		
	Savvas Learning Company (Pearson) Purchase either: (1) directly from Account General Manager Christina Contreras (385) 229-0709 christina.contreras@ savvas.com (2) through Mountain States Depository https://www.mssd.com/	Portuguese enVision Math 2.0 for lower grades	1-3	2023-24 Purchasing Pr https://drive.google.com	ice list here: m/file/d/1NyMNbdP4wUiD	P7g78SdnJKchudDFDW	'Qd/view?usp	<u>=share_link</u>		

© PORTUGUESE UTAH DUAL LANGUAGE IMMERSION										
REQUIRED MATERIALS Page 4										
	Vendor	Title/ Description	Grade	Picture	ISBN	Book Type & Quantity	Unit Price	Total		
SOCIAL STUDIES										
	BR Printing Patrick Brinker, Account Executive pbrinker@brprinters.com (323) 854-8910	<i>Cenas da História –</i> World History Textbook for 6 th Grade only	6	ELEVERA	n/a	TEXTBOOK classroom set (e.g. 30 copies)	\$18.43	\$552.90 for 30 students		
SCIENCE	Information				e found on the USB		<u>.</u>			
https://www.schools.utah.gov/curr/science?mid=1128&tid=5										
Currer	nt science OER books o Sc	infori	mation is f	ound on the web	ok and can be purch site linked above. oks per grade level, g	-	e Depot – o	ordering		